Non isolée

: L - o , . Transcription
N° Finale médiane initiale Isolée | Liées | Nom P
et valeur
1 J | | | non | alif A long. Durée
2 temps
2 (! A 3 (- liée | Ba B francais.
5 o . . Oy lice | Ta T francais.
. * * ., TH anglais de
4 — : ‘ — lice | Tha « think »
5 = A =X d lice |Jim | J frangais
6 . =\ =N d liée | ha H expiré
. . . . ., KH comme
7 A A s
C C liée | kha « khalid »
8 A D Q a non | dal D frangais
0 3 3 3 3 non | val TH anglais de
« the »
0 non | 14 R roulé.
2 J 2 J r espagnol
1 B B B ) non |zdy | Z frangais
12 e - Y Y lice S francais
i & - = IS liée CHE comme
- cheval
14 ra - A liée
, - * o=
15 2y oy A ) hée
U » : o=
16 )R ) 1. L liée
. 1 1 1 15 lice
18 & 2, c & liée A etranglé
. . . : lice .
19 & P c & R de paris
20 s 8 3| (a lice F francais
- - 3 - lice
21 9 [ 9 d
2 Sl < <) ¢l liée K francais
23 J 1 ] d lice L francais
24 A Q Q e lice M frangais
25 8 A 3 O lice N francais
lice
26 q ¢ A 5
27 5/ 3 9 9 non
- g ’ ’ & lice 1 long. Durée 2

teps




